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QUESTION 1

What two conditions must be met to achieve a collocated join between two tables? (Choose two.) 

A. Both tables have primarykeys defined. 

B. Both join columns have the same name. 

C. Both tables must be distributed on random. 

D. Both join columns have identical data types. 

E. Both tables must be distributed on their join column. 

Correct Answer: DE 

 

QUESTION 2

You have access to two databases, DEV and PROD. Currently you are connected to the DEV database. Which
operation is permitted? 

A. Delete from PROD..TableA 

B. Select * from PROD..TableA 

C. Truncate table PROD..TableA 

D. Insert into PROD..TableA select * from DEV..TableB 

Correct Answer: B 

 

QUESTION 3

What two characteristics can be changed when using the CREATE TABLE AS (CTAS) statement to copy TableA to
TableB? (Choose two.) 

A. The views on TableA. 

B. The privileges on TableA. 

C. The distribution key of TableB. 

D. The materialized views on TableB. 

E. The order of the data stored in TableB. 

Correct Answer: CE 

 

QUESTION 4
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Which nzload operation statement is correct? 

A. nzload must have a control file. 

B. nzload performs singleton inserts. 

C. nzload user must have CREATE EXTERNAL TABLE privilege. 

D. nzload must be run from the PureData System for Analytics host. 

Correct Answer: C 

 

QUESTION 5

Which statement is true? 

A. MATERIALIZED VIEWS can be run against EXTERNAL tables. 

B. GENERATE STATISTICS can be run against EXTERNAL tables. 

C. EXTERNAL table data is deleted using the SQL DELETE command. 

D. EXTERNAL tables can be used to unload data to a Microsoft Windows directory. 

Correct Answer: D 
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